
 ΑΠΑΝΤΗΣΕΙΣ ΣΤΟ ΔΙΑΓΩΝΙΣΜΑ ΑΛΓΕΒΡΑΣ Β ΛΥΚΕΙΟΥ Κυριακή 19 Φεβρουαρίου 2012 Θέμα 1ο:             
i) Α. Σωστό Β. Λάθος Γ. Σωστό Δ. Λάθος Ε. Σωστό                                                                              λ=-5 ii) Ρ(-1)=15 -1+2λ-1+5+λ2-3=15 λ2+2λ-15=0                                                                              λ=3 Θέμα 2ο:             
Β1. Β1: λ=1  Β2.  
α - β = α + β 3
2 γ = γ
3α - 2 = -2α + β - 1
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Θέμα 3ο:             
Γ1. Ρ(2) 0
Ρ( 1) 0
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Γ3. Ρ(x)>0  
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( , 2) ( 1, 2) (2, )x         
 Θέμα 4ο:             
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       x                2     3           x2-5x+6            +      -     +  (2,3)x   
 Δ2. Θέτουμε 2x=y               2y2-5y+2=0                       Δ=25-16=9    2 
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Θέμα 3ο:             Γ1. Ρ(2) 0
Ρ( 1) 0
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 Γ3. Ρ(x)>0   
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  Θέμα 4ο:             Δ1.  2 -5 4 -1     1  2 -3  1  1 -3 1 0  
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  Δ2. Θέτουμε ημx=y 
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